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QUESTION 1

Which setback is NOT related to the hardware-centric legacy of networking? 

A. Unpredicted downtime occurrences. 

B. Insufficient and weak perimeter security. 

C. Increased capital and operational costs. 

D. Complexity in service deployment. 

Correct Answer: B 

 

QUESTION 2

In a Software-Defined Data Center (SDDC) that has a distributed firewall, where are the firewall policies enforced? 

A. Guest operating system 

B. Uplink ports 

C. Virtual machine\\'s virtual interface 

D. Host 

Correct Answer: D 

 

QUESTION 3

Which is NOT a benefit of virtualized compute over traditional physical hardware for server deployments? 

A. Cost 

B. Deployment time 

C. Security 

D. Flexibility 

Correct Answer: C 

 

QUESTION 4

What is the common practice that I followed when a new application is deployed in legacy networking? 

A. The application is mapped to users upfront. 

B. The physical network is updated by the network team each time. 
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C. Recourse allocation is reconfigured based on the application requirement. 

D. Firewall and Intrusion Prevention System (IPS) solutions are switched off during the first deployment cycle. 

Correct Answer: C 

 

QUESTION 5

Which security technology is used by User World Agent (UWA) to communicate with VMware NSX Controller on the
control planed 

A. Tunneled Transport Layer Security (TTLS) 

B. Transport Layer Security (TLS) 

C. Secure Sockets Layer (SSL) 

D. iPsec 

Correct Answer: C 
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